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Let Q(x) be the Quadratic Formula generated from points a, b, c; where d1 < d2 < d3 and f(d1) > f(d2) <
f(d3), using Lagrange Interpolation:

Q(x) = f(d1)×
(x− d2)(x− d3)

(d1 − d2)(d1 − d3)
+ f(d2)×

(x− d3)(x− d1)

(d2 − d3)(d2 − d1)
+ f(d3)×

(x− d1)(x− d2)

(d3 − d1)(d3 − d2)

=⇒ Q′(x) = f(d1)×
(x− d2) + (x− d3)

(d1 − d2)(d1 − d3)
+ f(d2)×

(x− d3) + (x− d1)

(d2 − d3)(d2 − d1)
+ f(d3)×

(x− d1) + (x− d2)

(d3 − d1)(d3 − d2)

For minima, Q’(x) = 0

∴ f(d1)×
(x− d2) + (x− d3)

(d1 − d2)(d1 − d3)
+ f(d2)×

(x− d3) + (x− d1)

(d2 − d3)(d2 − d1)
+ f(d2)×

(x− d1) + (x− d2)

(d3 − d1)(d3 − d2)
= 0

Multiplying by (d1 − d2) · (d2 − d3) · (d3 − d1):

f(d1)× (2x− d2 − d3)(d3 − d2) + f(d2)× (2x− d3 − d1)(d1 − d3) + f(d3)× (2x− d1 − d2)(d2 − d1) = 0

=⇒ 2x{f(d1)(d3−d2)+f(d2)(d1−d3)+f(d3)(d2−d1)}−{f(d1)(d23−d22)+f(d2)(d
2
1−d23)+f(d3)(d

2
2−d21)} = 0

Since we have considered Q’(x) = 0, we can now consider the x here as xmin

∴ xmin =
1

2
× f(d1)(d

2
3 − d22) + f(d2)(d

2
1 − d23) + f(d3)(d

2
2 − d21)

f(d1)(d3 − d2) + f(d2)(d1 − d3) + f(d3)(d2 − d1)

=⇒ xmin =
1

2
× f(d1)(d3 − d2)(d3 + d2) + f(d2)(d1 − d3)(d1 + d3) + f(d3)(d2 − d1)(d2 + d1)

f(d1)(d3 − d2) + f(d2)(d1 − d3) + f(d3)(d2 − d1)

=⇒ xmin = d2+
1

2
×f(d1)(d3 − d2)(d3 + d2 − 2d2) + f(d2)(d1 − d3)(d1 + d3 − 2d2) + f(d3)(d2 − d1)(d2 + d1 − 2d2)

f(d1)(d3 − d2) + f(d2)(d1 − d3) + f(d3)(d2 − d1)

=⇒ xmin = d2+
1

2
×f(d1)(d3 − d2)(d3 + d2 − 2d2) + f(d2)(d1 − d3)(d1 + d3 − 2d2) + f(d3)(d2 − d1)(d2 + d1 − 2d2)

f(d1)(d3 − d2) + f(d2)(d1 − d3) + f(d3)(d2 − d1)

=⇒ xmin = d2+
1

2
×f(d1)(d3 − d2)

2 + f(d2)(d
2
1 + d1d3 − 2d1d2 − d1d3 − d23 + 2d2d3 + d22 − d22)− f(d3)(d2 − d1)

2

f(d1)(d3 − d2) + f(d2)(d1 − d3 + d2 − d2) + f(d3)(d2 − d1)

=⇒ xmin = d2 +
1

2
× f(d1)(d3 − d2)

2 + f(d2){(d2 − d1)
2 − (d3 − d2)

2} − f(d3)(d2 − d1)
2

f(d1)(d3 − d2) + f(d2)(d1 − d3 + d2 − d2) + f(d3)(d2 − d1)

=⇒ xmin = d2 +
1

2
× {f(d1)− f(d2)}(d3 − d2)

2 − {f(d3)− f(d2)}(d2 − d1)
2

{f(d1)− f(d2)}(d3 − d2) + {f(d3)− f(d2)}(d2 − d1)

Let point d1, d2, d3 be equidistant; meaning (d2 − d1) = (d3 − d2) = z:

=⇒ xmin = d2 +
1

2
× {f(d1)− f(d3)}

f(d1) + f(d3)− 2f(d2)
× z

Let f(d1) = C1, f(d2) = C2, f(d3) = C3:

=⇒ xmin = d2 +
1

2
× C1 − C3

C1 + C3 − 2C2
× z

If xmin is considered dest and z = 1, we have:

dest = d2 −
1

2
× C3 − C1

C1 + C3 − 2C2


